

Sectiones 19 - Permutatio

Approfundere

1. a) γ solutio $\Leftrightarrow \gamma \alpha = \beta \gamma$ **3P**

$$\gamma \alpha = \begin{pmatrix} 1 & 2 & 3 & 4 \\ 4 & 3 & 1 & 2 \end{pmatrix} \begin{pmatrix} 1 & 2 & 3 & 4 \\ 3 & 1 & 4 & 2 \end{pmatrix} = \begin{pmatrix} 1 & 2 & 3 & 4 \\ 1 & 4 & 2 & 3 \end{pmatrix}^{3P}$$

$$\beta \gamma = \begin{pmatrix} 1 & 2 & 3 & 4 \\ 2 & 3 & 4 & 1 \end{pmatrix} \begin{pmatrix} 1 & 2 & 3 & 4 \\ 4 & 3 & 1 & 2 \end{pmatrix} = \begin{pmatrix} 1 & 2 & 3 & 4 \\ 1 & 4 & 2 & 3 \end{pmatrix}^{3P}$$

\Rightarrow sunt egale **1P**

b) $\alpha = (1342) \Rightarrow \sigma(\alpha) = \ell(\alpha) = 4 \Rightarrow \alpha^4 = e$ **4P**

$\beta = (1234) \Rightarrow \sigma(\beta) = \ell(\beta) = 4 \Rightarrow \beta^4 = e$ **4P** $\Rightarrow \alpha^4 = \beta^4$ **2P**

c) $\alpha \alpha^3 = \alpha^3 \alpha \Leftrightarrow \alpha \alpha^4 = \alpha^4 \alpha \Leftrightarrow \alpha x = x \alpha \Leftrightarrow x \alpha^{-1} = \alpha$ **2P**

Notăm $x = \begin{pmatrix} 1 & 2 & 3 & 4 \\ a & b & c & d \end{pmatrix} \Rightarrow x^{-1} = \begin{pmatrix} a & b & c & 4 \\ 1 & 2 & 3 & d \end{pmatrix}$ **2P**

$$\Rightarrow \begin{pmatrix} 1 & 2 & 3 & 4 \\ a & b & c & d \end{pmatrix} \begin{pmatrix} 1 & 2 & 3 & 4 \\ 3 & 1 & 4 & 2 \end{pmatrix} \begin{pmatrix} a & b & c & d \\ 1 & 2 & 3 & 4 \end{pmatrix} = \begin{pmatrix} 1 & 2 & 3 & 4 \\ 3 & 1 & 4 & 2 \end{pmatrix} \Leftrightarrow$$

$$\Leftrightarrow \begin{pmatrix} a & b & c & d \\ c & a & d & b \end{pmatrix} = \begin{pmatrix} 1 & 2 & 3 & 4 \\ 3 & 1 & 4 & 2 \end{pmatrix}$$
 2P

$a=1 \Rightarrow c=3 \Rightarrow d=4 \Rightarrow b=2 \Rightarrow \begin{pmatrix} 1 & 2 & 3 & 4 \\ 1 & 2 & 3 & 4 \end{pmatrix}$ solutie

$a=2 \Rightarrow c=1 \Rightarrow d=3 \Rightarrow b=4 \Rightarrow \begin{pmatrix} 1 & 2 & 3 & 4 \\ 2 & 4 & 1 & 3 \end{pmatrix}$ solutie

$a=3 \Rightarrow c=4 \Rightarrow d=2 \Rightarrow b=1 \Rightarrow \begin{pmatrix} 1 & 2 & 3 & 4 \\ 3 & 1 & 4 & 2 \end{pmatrix}$ solutie

$a=4 \Rightarrow c=2 \Rightarrow d=1 \Rightarrow b=3 \Rightarrow \begin{pmatrix} 1 & 2 & 3 & 4 \\ 4 & 3 & 2 & 1 \end{pmatrix}$ solutie

$\Rightarrow S = \{e, (1243), (1342), (14)(23)\}$ **4P**

2. a) $\alpha = \begin{pmatrix} 1 & 2 & 3 \\ 3 & 1 & 2 \end{pmatrix} \Rightarrow m(\alpha) = 2$ **3P** $\Rightarrow \ell(\alpha) = (-1)^2 = 1$ **3P** $\Rightarrow \alpha$ para **4P**

b) $x^2 = \alpha \Leftrightarrow x = \alpha x^{-1}$ **2P**

$$\begin{pmatrix} 1 & 2 & 3 \\ a & b & c \end{pmatrix} \Rightarrow x^{-1} = \begin{pmatrix} a & b & c \\ 1 & 2 & 3 \end{pmatrix}$$
 2P $\Rightarrow \begin{pmatrix} 1 & 2 & 3 \\ a & b & c \end{pmatrix} = \begin{pmatrix} 1 & 2 & 3 \\ 3 & 1 & 2 \end{pmatrix} \begin{pmatrix} a & b & c \\ 1 & 2 & 3 \end{pmatrix} \Rightarrow$

$$\Rightarrow \begin{pmatrix} 1 & 2 & 3 \\ a & b & c \end{pmatrix} = \begin{pmatrix} a & b & c \\ 3 & 1 & 2 \end{pmatrix}$$
 2P

$a=1 \Rightarrow 1=3$ do

$a=2 \Rightarrow b=3 \Rightarrow c=1 \Rightarrow x = \begin{pmatrix} 1 & 2 & 3 \\ 2 & 3 & 1 \end{pmatrix}$

$a=3 \Rightarrow a=1$ do

$\Rightarrow S = \{(123)\}$ **4P**

c) $x \alpha = \alpha x \Leftrightarrow x \alpha x^{-1} = \alpha$ **2P**

$$\begin{pmatrix} a & b & c \\ c & a & b \end{pmatrix} = \begin{pmatrix} 1 & 2 & 3 \\ 3 & 1 & 2 \end{pmatrix}$$
 2P

$x = \begin{pmatrix} 1 & 2 & 3 \\ a & b & c \end{pmatrix} \Rightarrow x^{-1} = \begin{pmatrix} a & b & c \\ 1 & 2 & 3 \end{pmatrix}$ **2P**

$a=1 \Rightarrow c=3 \Rightarrow b=2 \Rightarrow x = \begin{pmatrix} 1 & 2 & 3 \\ 1 & 2 & 3 \end{pmatrix}$ solutie

$a=2 \Rightarrow c=1 \Rightarrow b=3 \Rightarrow x = \begin{pmatrix} 1 & 2 & 3 \\ 2 & 3 & 1 \end{pmatrix}$ solutie

$a=3 \Rightarrow c=2 \Rightarrow b=1 \Rightarrow x = \begin{pmatrix} 1 & 2 & 3 \\ 3 & 1 & 2 \end{pmatrix}$ solutie

$\Rightarrow S = \{e, (123), (132)\}$ **4P**

$$3. a) \alpha = \begin{pmatrix} 1 & 2 & 3 & 4 \\ 3 & 1 & 4 & 2 \end{pmatrix} = (1342) \quad sp$$

$$\beta = \begin{pmatrix} 1 & 2 & 3 & 4 \\ 2 & 3 & 4 & 1 \end{pmatrix} = (1234) \quad sp$$

$$b) \alpha = (1342) = (12)(14)(13) \quad sp$$

$$\beta = (1234) = (14)(13)(12) \quad sp$$

$$c) \varepsilon(\alpha) = \varepsilon(12) \cdot \varepsilon(14) \cdot \varepsilon(13) = (-1)^3 = -1 \quad sp$$

$$\varepsilon(\beta) = \varepsilon(14) \cdot \varepsilon(13) \cdot \varepsilon(12) = (-1)^3 = -1 \quad sp$$